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The graph with solid line is the graph of /(x) = {x} and the
{-x}. Now, the

graph with dotted lines is the graph of / () = -1
graph of min( {x}. {-x}) is the graph with dark solid lines.
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17.(3) The polynomial function is differentiable everywhey
Therefore, the points of extremum can only be the roots
the derivative. Further, the derivative of a polynomal j
polynomial. The polynomial of the least degree with rox
x=1and x =3 has the form a(x - 1) (x - 3).
Hence, P'(x) =a(x ~ 1) (x - 3).
Since at x = 1, we must have P(1) = 6.
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Also, P(3) =2. S0, a = 3. Hence, P(x) = x’ — 6x* + 9x +2.
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